



Имя: \_\_\_\_\_

Дата: \_\_\_\_\_ Оценка: \_\_\_\_\_

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right) - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right) - \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^0 + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$



Имя: \_\_\_\_\_

Дата: \_\_\_\_\_ Оценка: \_\_\_\_\_

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) = \frac{2}{75}$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{29}{192}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{5}\right) = \frac{24}{125}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{67}{180}\right)$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{6}\right) = \frac{131}{750}$$

$$\left(-\frac{3}{5}\right) - \frac{1}{2} = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{23}{108}\right)$$

$$\left(\frac{1}{5}\right) - \frac{3}{5} = \left(-\frac{2}{5}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{2}{5} = \left(-\frac{13}{45}\right)$$

$$\left(-\frac{3}{5}\right) - \frac{1}{3} = \left(-\frac{14}{15}\right)$$

$$\left(\frac{1}{5}\right)^2 - \frac{3}{4} = \left(-\frac{71}{100}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{16}{25}$$

$$\left(-\frac{1}{3}\right)^3 + \frac{2}{5} = \frac{49}{135}$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{2} = \left(-\frac{127}{250}\right)$$

$$\left(\frac{1}{5}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{5}{8}\right)$$